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Section : English Language 

Q.1 Fill in the blank with an appropriate option. 

He could feel every ______ and artery in his body. 

Ans  1. vein 

 2. liver 

 3. place 

 4. beat 

 

 

Q.3 Choose the word that is opposite in meaning to the given word. Vain 

Ans  1. Unpredictable 

 2. Calculable 

 3. Harmony 

 4. Productive 

 

Q.4 Choose the incorrectly spelt word. 

Ans  1. Ghost 

 2. Roast 

 3. Holitisc 

 4. Malt 

 

  

  

  

  

  

 

 

   

  

  

  

  

  

  

  

  

  

  

  

  



  

Q.5 Improve the underlined part of the sentence. Choose ‘No improvement’ as an answer if the sentence is 
grammatically correct.       
The students studied a diagrams of a plant cell. 

Ans  1. No improvement 

 2. studied a diagram 

 3. study a diagrams 

 4. studying a diagram 

 

Q.6 Improve the underlined part of the sentence. Choose ‘No improvement’ as an answer if the sentence is 

grammatically correct. 

People who came into contact with the carrier are in danger of catching the disease. Ans  1. in dangers 

for 

 2. in danger off 

 3. at dangerous of 

 4. No improvement 

 

 

Q.8 Choose the word that means the same as the given word. Domicile 

 Ans  1. Home 

 2. Evict 

 3. Wild 

 4. Dictator 

 

  

  

  

  

  

  

  

 

 

 

   

  

  

  

  

  

  

  

  

  



 



 



  

Q.19 Given below are four jumbled sentences. Pick the option that gives their correct order. P. Rama, prince of 

Ayodhya, won the hand of the beautiful princess Sita (seen here),     but was exiled 

with her and his brother Laksmana for 14 years through the plotting of 

 
his stepmother.Q. The allies attacked Lanka, killed Ravana, and rescued Sita. In order to prove her chastity, 

Sita entered fire, but was vindicated by the gods and restored to her husband. R. After the couple's 

triumphant return to Ayodhya, Rama's righteous rule (Ram-raj) inaugurated a golden age for all mankind. 

S. In the forest Sita was abducted by Ravana, and Rama gathered an army of monkeys and bears to search 

for her. 

Ans  1. SQPR 

 2. PSQR 

 3. PQRS 

 4. QRSP 

 

Q.20 Choose the option that is the correct passive form of the sentence. She ate the last slice 

of pizza. 

Ans  1. The last slice of pizza had been eaten by her. 

 2. The last slice of pizza was eaten by her. 

 3. The last slice was being eaten by her. 

 4. She had eaten the last slice of pizza. 

 

Ans 

  

  

  

  

  

  

 

 

 

 

 

 

 

 

 

 

 

 

  

  

  

  

  

  

  



 

  Comprehension: 

In the following passage some of the words have been deleted. Read the passage carefully   
  and select the correct answer for the given blank out of the four alternatives. 

 Fresh pineapple, chilled watermelon, and an icy cold soft drink on a hot summer's day. Whatdo these 

things have in (1)______ ? They all taste so good because of the sweetness the sugar in them 

provides. When you think of sugar, you probably picture the white (2)______ you put in cookies, that 

your parents put in their coffee, or that you (3)______ on your cereal. Actually, this is just one kind of 

sugar, called sucrose, which is (4)______ from sugar cane or sugar beets. Technically, sugar is a 

carbohydrate that occurs (5)______ in every fruit and vegetable. 

SubQuestion No : 22 

Q.22 Select the most appropriate option to fill in blank number 2. 

 Ans  1. granules 

 2. rubbles 

 3. capsules 

 4. stones 

 

 

Ans 

  

  

  

 

 

 

 

 

 

 

 

 

 

 

 

  

  

  

  

  

  

  



Comprehension: 

In the following passage some of the words have been deleted. Read the passage carefully and select the 

correct answer for the given blank out of the four alternatives. 

Fresh pineapple, chilled watermelon, and an icy cold soft drink on a hot summer's day. What do these 

things have in (1)______ ? They all taste so good because of the sweetness the sugar in them provides. 

When you think of sugar, you probably picture the white (2)______ you put in cookies, that your parents 

put in their coffee, or that you (3)______ on your cereal. Actually, this is just one kind of sugar, called 

sucrose, which is (4)______ from sugar cane or sugar beets. Technically, sugar is a carbohydrate that 

occurs (5)______ in every fruit and vegetable. 

SubQuestion No : 24 

Q.24 Select the most appropriate option to fill in blank number 4. 

Ans  1. shelved 

 2. excavated 

 3. rugged 

 4. extracted 

 

  

  

  



 

 

 

 

 

 
 

 

 

 

 

 

 

   

  

  

  

  

  

  

 

 

  

  

  

  

  

  

  

  

  

  

      



  

 

Q.3 Select the option in which the numbers shares the same relationship in set as that shared by the numbers 

in the given set. (NOTE: Operations should be performed on the whole numbers, without breaking down 

the numbers into its constituent digits. 

E.g.13 – Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be performed. Breaking 

down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not allowed) 

(14, 112, 6) 

(17, 204, 5) 

Ans  1. (9, 89, 3) 

 2. (21, 189, 12) 

 3. (24, 145, 18) 

 4. (15, 135, 7) 

 

 

 

  

  

  

  

  

  

  

  

  

      

  

  

  



Q.4  
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Q.6 Select the correct option that indicates the arrangement of the given words in the order in which they 

appear in an English dictionary. 

1. Machine 

2. Macabre 

3. Machinery 

4. Macaroni 

5. Machete 

Ans  1. 4, 1, 5, 2, 3 

 2. 2, 4, 5, 1, 3 

 3. 1, 2, 3, 4, 5 

 4. 2, 5, 1, 3, 4 

 

  

  

  



  

Q.7 In a certain code language, ‘GRATEFUL’ is coded as ‘209267562112’, ‘INSTANCE’ is coded as 
‘18138711435’. What is the code for ‘LIKEWISE’ in that code language?      

Ans  1. 15181623339195 

    2. 15181622239195 

 3. 15161822238195 

 4. 15811622239195 

 

Q.8 In the following question below are given some statements followed by some conclusions based on those 

statements. Taking the given statements to be true even if they seem to be at variance from commonly 

known facts. Read all the conclusions and then decide which of the given conclusion logically follows the 

given statements. Statements: 

I. Some red are black. II. No 

white is black. 

Conclusion: 

I. No black is white. II. 

No white is red. 

III. No black is red. 

Ans  1. Both conclusions II and III follows 

 2. All conclusion follows 

 3. Only conclusion I follows 

 4. Neither conclusion follows 

 

 

Q.10 In the following question, select the odd letter/letters from the given alternatives. 

Ans  1. AXU 

 2. URO 

 3. NKH 

 4. SPL 

 

  

  

  

  

  

  

  

 

 

 

 

 

   

   

    

   

   

   

  

  

  

  

  

  



  

Q.11  
  

  

Ans  

 

 

 

 

Q.12 If ‘A’ means ‘×’, ‘B’ means ‘÷’, ‘C’ means ‘+’ and ‘D’ means ‘–’, then what will come in the place of ‘?’ in 
the given expression? 

94 B 47 C 63 D 14 A 5 C ? = –2 

 Ans  1. 3 

 2. 4 

 3. 7 

 4. 6 

 

Ans 

Q.14 In the following question, select the related letters from the given alternatives. AJN : DMQ :: PTW 

:? 

Ans  1. ITE 

 2. SWZ 

 3. MZW 

 4. SOH 

 

  

  

  

  

  

  

  

  

  

  

 

 

  

  

  

  

  

  

  

  

  

  

    



  

Q.15 A series is given with one term missing. Select the correct alternative from the given ones that will complete 
the series.       
ANM, GWZ, MFM, SOZ, ? 

Ans  1. NQR 

 2. YYM 

 3. YXM 

 4. YXR 

 

Q.16 In the following question, select the missing number from the given series. 59, 118, 354, 708, 

2124, ? 

Ans  1. 4350 

 2. 4250 

 3. 4248 

 4. 4148 

 

Ans 

Q.18 Select the option that is related to the fifth number in the same way as the first number is related to the 

second number and third number is related to fourth number. 19 : 359 :: 17 : 287 :: 21 : ? 

Ans  1. 441 

 2. 449 

 3. 433 

 4. 439 

 

  

  

  

  

  

  

 

   

   

   

   

   

  

  

  

  

  

  



Q.19 Select the option in which the numbers shares the same relationship in set as that shared by the numbers in 

the given set. (NOTE: Operations should be performed on     the whole numbers, 

without breaking down the numbers into its constituent digits. 

 E.g.13 – Operations on 13 such as adding / subtracting / multiplying etc. to 13 can beperformed. Breaking down 

13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not allowed) 

(32, 64, 256) 

(18, 36, 144) 

 Ans  1. (37, 74, 296) 

 2. (24, 72, 287) 

 3. (41, 82, 164) 

 4. (26, 52, 313) 

 

Q.20 In a certain code language, ‘WEIGHS’ is coded as ‘QHEICW’. What is the code for ‘ABUSES’ in that code 

language? 

Ans  1. QEQUAZ 

 2. QEQZUA 

 3. QEQUAA 

 4. QEQUZA 

 

Q.21 

Ans 

 

  

  

  

  

  

  

  

  

  

  



  

 

  

  

  



 

 

 

 

 

   

  

  

  

  

  

  

 

 

  

  

  

  

  

  

  

 

   

  

  

  

  

  

  

  

  

      



 

 

 

   

  

  

  

  

  

  

 

   

  

  

  

  

  

  

 

   

  

  

  

  

  

  

  

  

  

      



  

Q.3  
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Q.5 Ans

  

 

 

 

 

  

  

  

  

  

  

  

 

   

  

  

  

  

  

  

  

  

  

  

  

  

  

      



  

Q.6  

Ans 

  

 

 

 

Q.7 Ans

  

 

 

 

 

 

Q.9 Ans 

 

 

 

 

 

  

  

  

  

  

  

  

  

  

  

  

  

  

 

   

  

  

  

  

  

  

  

  

  

  

  

  

  

  

      



  

Q.10  

  

 Ans  

 

 

 

 

Q.11  

Ans  

 

 

 

 

 

  

  

  

  

  

  

  

  

  

  

  

  

  

  

 

 
  

  

  

  

  

  

  

      



 

 

   

  

  

  

  

  

  

 

   

  

  

  

  

  

  

 

   

  

  

  

  

  

  

  

  

  

      



  

Q.16  
  

   
Ans 

  

 

 

 

Q.17  
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Q.19  
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Q.20  

Ans 

  

 

 

 

 

Q.22  

 Ans  

 

 

 

 

Q.23  
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Section : General awareness 

  

Q.2 ___________ is the change in total utility due to consumption of one additional unit of a commodity.       

 Ans  1. Marginal utility (MU) 

  2. Demand utility (DU) 

 3. Revenue utility (RU) 

 4. Product Utility (PU) 

 

 Q.3 Which of the following statements is correct? 

 Ans  1. Our body works within the pH range of 7.0 to 7.8. 

 2. When pH of rain water is less than 8.2, it is called acid rain. 

 3. Living organisms can survive a wide range of pH change. 

 4. Tooth decay starts when the pH of the mouth is lower than 1.5. 

 

 

Q.5 Which article of the constitution of India is related to Comptroller and Auditor General of India Audit 

reports? 

Ans  1. 149 

 2. 150 

 3. 151 

 4. 148 

 

Q.6 Kalinga is the ancient name of coastal ______. Ans 

 1. Andhra Pradesh 

 2. Orissa 

 3. Kerala 

 4. Tamil Nadu 

 

  

  

  

  

  

  

  

   

  

  

  

  

  

  

  

  

  

  

  

  



  

Q.7 VSHORADS missile was successfully tested in September 2022 by ______. 

 Ans  1. Earth System Science Organization (ESSO)      

    2. Defence Research and Development Organization (DRDO) 

 3. Hindustan Aeronautics Limited (HAL) 

 4. Forest Survey of India (FSI) 

 

Q.8 Who among the following received the best actor in leading role (male) popular choice in the 

Filmfare Awards 2022? Ans  1. Sidharth Malhotra 

 2. Vicky Kaushal 

 3. Ranveer Singh 

 4. Dhanush 

 

 

Q.10 ______, also known as search unemployment, occurs when workers lose their current job and are in the 

process of finding another one. 

 Ans  1. Frictional unemployment 

 2. Voluntary unemployment 

 3. Classical unemployment 

 4. Disguised unemployment 

 

Q.11 Which Union Territory of India lies in the Bay of Bengal? 

Ans  1. Lakshadweep Islands 

 2. Chandigarh 

 3. Dadra & Nagar Haveli and Daman & Diu 

 4. Andaman and Nicobar Islands 

 

  

  

  

  

  

  

  

 

   

  

  

  

  

  

  

  

  

  

  

  

  



  

Q.12 Where was the Commonwealth games held in the year 2022?  

 Ans  1. Glasgow       

  2. Gold Coast 

 3. Birmingham 

 4. New Delhi 

 

Q.13 Humayun’s Tomb situated in Delhi is built by ______. 

Ans  1. Maham Begum 

 2. Gulbadan Begum 

 3. Biga Begum 

 4. Hamida Begum 

 

Ans 

 Ans 1. Ministry of Culture 

 2. Ministry of Finance 

 3. Ministry of Rural Development 

4. Ministry of External Affairs 

 

 

Q.16 The Indian National Congress was established when ______ delegates from all over the country met at 

Bombay in December 1885. 

Ans  1. 108 

 2. 156 

 3. 72 

 4. 34 

 

  

  

  

  

  

  

 

 

 

  

  

  

  

  

  

  

 

  

  

  

  

  

  



  

Q.17 Which of the following is NOT an application software?  

 Ans  1. Education software       

    2. Programming language translator software 

 3. Personal assistance software 

 4. Entertainment software 

 

Q.18 Who among the following has been chosen as the male goalkeeper of the year by the International Hockey Federation 

(FIH) 2021-22? 

Ans  1. Pirmin Blaak 

 2. Arthur Thieffry 

 3. Mumtaz Khan 

 4. PR Sreejesh 

 

Ans 

Q.20 What is the atomic mass of sodium? 

Ans  1. 40 

 2. 23 

 3. 32 

 4. 12 

 

Q.21 Which among the following lakes is known as the only "Floating Islands Lake" in India? 

Ans  1. Kolleru 

 2. Loktak 

 3. Pulicat 

 4. Chilka 

 

  

  

  

  

  

  

 

 

 

 

 

 

  

  

  

  

  

  

  

  

  



 

 

   

  

  

  

  

  

  

 

   

  

  

  

  

  

  

 

   

  

  

  

  

  

  

 

 

   

  

  

  

  

  

  

  

  

      


